

			Vendor	Ranking			Page 1 of 1
Letting:	05230307	March 07, 2023 2:00 PM	Call Order	: 008	Contract:	E58B8	
District: Contract Time: Contract Desc:		BLE DAYS NTY TSM&O PUSHBUTTON		BREVARD, DIST/ST- WIDE, FLAGLER, LAKE, MARION, ORANGE, OSCEOLA, SEMINOLE, SUMTER, VOLUSIA	Fed Aid No Project(s):	: N/A 44623615204 (*)

Ran	k Vendor	Bid Type	Bid Status	Total Bid	Low Bid
1	TRAFFIC CONTROL DEVICES, LLC	Responsive	Winning bid	\$1,096,245.00	100.00%

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.

FDOT

Tabulation of Bids

Page 1 of 4

This is a Work Do and Operations (T detection systems necessary modific modifications to c Signal Performany years or until the o budgetary ceiling details. The quantities sho on historical or sp quantities, or the o	: LAKE COUN ocument driven q TSM&O) equipme s, network comm cations to existing abinet bases, an ce Metrics (ATSF contracted amou of \$500,000 dolla own on the Bid P recific project nee exact quantities s	TY TSM&O PUSHBUTTON uick response contract for furrent, such as: traffic signal con- unication equipment (e.g., ma- g traffic signalized intersection d changes necessary to provie PM) towards improving the over nt has been reached. The nur- ars. Refer to the Advertisement rice Proposal are approximate eds. The Department does not shown for each bid item. The I	nishing and installi itroller cabinet ass inaged field Etherr a configurations—in de the high-resolu erall traffic manage mber of work docu nt, Specifications F e and only represe t guarantee any m Departments estim	BREVARD, DIST/ST- WIDE, FLAGLER, LAKE, MARION, ORANGE, OSCEOLA, SEMINOLE, ng Umpertations statement and contract with foundations, video net switch), and CCTV cameras ncluding relocation of existing et tion data required by Advanced ement capabilities for a period of ments from the contract will be Package, and Pay Item Notes for ent estimated planned requirem aximum or minimum quantity, a nated quantities and the Contra	lanagement o vehicle s, as well as equipment, I Traffic of two (2) limited by a or additional ents based any range of ctors bid	E58B8 : N/A 44623615204 (*)
quantities, or the oprice will be used	exact quantities s to calculate a to	shown for each bid item. The l al bid amount. This total bid a	Departments estiments estiments estiments estiments and the second secon	1 37	ctors bid der;	

specific sites are not identified at the time of letting, the Engineer will issue a Contract Work Document. Contract Work Documents will identify the location, description, amount of work to be accomplished, and the number of calendar days to complete the work. See Advertisement and Specification Package for details.

PREQUALIFICATION REQUIRED

Line No / Item ID Alternate Item Description	Quantity Units	(1) TRAFFIC DEVICE					
() indicates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 F	loadway						
0005 0102 14 TRAFFIC CONTROL OFFICER	136.000 HR	115.00000	15,640.00				
0010 0102 60 WORK ZONE SIGN	270.000 ED	15.40000	4,158.00				
0015 0102 74 1 CHANNELIZING DEVICE- TYPES I, II, VP, DRUM, OR LCD	192.000 DI, ED	15.50000	2,976.00				



03/17/2023

Tabulation of Bids

Page 2 of 4

Letting: 052303	07 Mar	ch 07, 2023	Cal	l Order: 008		Contract:	E58B8	
Line No / Item ID /	Alternate	Quantity Units	(1) TRAFFIC DEVICE					
() indicates item is bid as Lu	mp Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001	Roa	adway						
0020 0102 76 ARROW BOARD / ADVANCI ARROW PANEL	E WARNING	24.000 ED	61.00000	1,464.00				
0025 0110 4 10 REMOVAL OF EXISTING CO	DNCRETE	100.000 SY	182.00000	18,200.00				
0030 0522 2 CONCRETE SIDEWALK AN DRIVEWAYS, 6" THICK	D	100.000 SY	338.00000	33,800.00				
0001 Roa	dway Sectio	on Totals:		\$76,238.00				
SECTION: 0002	Sig	nalization						
0035 0630 2 11 CONDUIT, FURNISH & INST TRENCH	ALL, OPEN	200.000 LF	21.00000	4,200.00				
0040 0633 3 45 FIBER OPTIC CONNECTION HARDWARE, RELOCATE PA PRETERMINATED		13.000 EA L,	2,620.00000	34,060.00				
0045 0660 1110 LOOP DETECTOR INDUCTI TYPE 10	VE, F&I,	104.000 EA	693.00000	72,072.00				
0050 0660 4 11 VEHICLE DETECTION SYS ^T FURNISH & INSTALL CABIN EQUIPMENT		4.000 , EA	20,435.00000	81,740.00				



Tabulation of Bids

Page 3 of 4

Letting: 05230307 Marc	ch 07, 2023	Cal	I Order: 008		Contract:	E58B8	
Line No / Item ID Alternate Item Description	Quantity Units	(1) TRAFFIC DEVICE					
() indicates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0002 Sigr	nalization						
0055 0660 4 12 VEHICLE DETECTION SYSTEM- VIDEO, FURNISH & INSTALL ABOVE GROUND EQUIPMENT	4.000 EA	11,650.00000	46,600.00				
0060 0663 1400 SIGNAL PRIORITY & PREEMPTION SYSTEM, RELOCATE	17.000 EA	1,775.00000	30,175.00				
0065 0670 5112 TRAFFIC CONTROLLER ASSEMBLY, F&I, NEMA, 2 PREEMPTION	17.000 AS	41,340.00000	702,780.00				
0070 0682 1113 ITS CCTV CAMERA, F&I, DOME PTZ ENCLOSURE - PRESSURIZED, IP, HIGH DEFINITION	2.000 EA	8,850.00000	17,700.00				
0075 0684 1 1 MANAGED FIELD ETHERNET SWITCH, FURNISH & INSTALL	4.000 EA	4,550.00000	18,200.00				
0080 0684 1 4 MANAGED FIELD ETHERNET SWITCH, RELOCATE	13.000 EA	960.00000	12,480.00				
0002 Signalization Sectio	n Totals:		\$1,020,007.00				

Contract Grand Totals:

\$1,096,245.00



|--|

Page 4 of 4

Letting:	05230307	March 07, 2023	Call Order: 008	Contract	E58B8
		120.57(3), Flo	rida Statutes, or failure t	ne time prescribed in section to post the bond or other security I for filing a bond shall constitute	

a waiver of proceedings under chapter 120, Florida Statutes.